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Answer all the questions :
Wife® R (Physics)
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State Newton's law of gravitation. A stone and piece of paper are
dropped simultaneously fromlthe same height on the lunar surface,
which one will fall faster? Why? The mass and radius of the earth
are 6x10*kg and 6.4%x10°m respectively. Calculate the acceleration

due to gravity at the top of Mt. Everest of height 8848m from the sea
level. (G = 6.67x10"''Nm?>kg)
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What is hydro-power? In the context of Nepal hydro-power should be
given more priority rather than fossil fuel, why? Justify with two

reasons.
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If the pressure, force and area are P, F and A respectively, then prove

F : ; 5
‘that: P= %" An egg sinks in pure water but floats on solution of salt

with water, why?
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Name the instrument shown in the figure. On which principle does it
work? Give one reason, why liquid is used inside it. If the cross sectional

area of piston 'A' is 30 cm?, piston 'B' is 90 em? and effort of 40N is
applied on'A' then how much load is needed on piston 'B' to balance it?
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'Heat should be applied to open the tight lid of the bottle.' Which effect
of heatis it? An iron ball of 4kg mass is cooled from 20°C temperature

to 10°C. How much amount oftheat is released? specific heat capacity
ofiron is 460J/kg°C.
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Why convex lens called converging lens? A convex lens has a focal length
of 10 cm. An object kept at a distance 30 cm from lens. Draw a ray
diagram to show the formation of image. Write two nature of the image.
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Give any two differences between parallel and series combination of cells.
Inahouse if 2 heaters of 1000W land 6 bulbs of 100W are used at the rate
of 4 hrs and 8 hrs respectively per day, then what will be the total
onsumption of electricity within a month at that house?
TAT A g1 WA g 7 e 7 arermer frara Sete |
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Which metal is used as a filament? Why? State the principle of

transformer. Why the core of transformer is laminated?
SHHAT:
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@A P (Chemistry)
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State the law of modern periodic table. Fluorine is more reactive than
chlorine, why? Write two limitations of balanced chemical equation.
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Which gas is produced by the chemical reaction between

dilute hydrochloric acid and marble px’éces? Write the T X
balanced chemical equation. Write fufl form of L.2.G. Give § = ¢
the name of following compox.{@“ds.-. & AP
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Why acetic acid called weak facid? What is salt? Write a balanced

chemical equation of the chemical reaction between aluminium and
‘nitrogen gas. Al v |
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Which substance is used to in¢rease refractive index of glass? Which
glass is called lead crystal glass? Write any two differences between organic
fertilizer and inorganic fertilizer on the basis of their composition and effect.
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Draw the figure of bacteriophase virus and label its any two parts.
Write any two differences between erythrocytes and leucocytes.
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Write the name and function of the fluid found in brain? How many
numbers of spinal nerves are present in human body? Write down two
functions of spinal cord. '
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What is crossing over? W h\ reduction process is necessary in the
meiosis cell division? € Iant.y it. Write two differences between
elophase of mitosis and telophase first of meiosis cell division.

@ )/ T =Arsa e A T B TE A deTE | e s :
@I 7 UF 987 TEARTT | FerWT TUTE Fal avagd ¢ wie
THZ 7 A AT A O A e 140.5+0.541=3 8

Write name of the parts A and B in the given figure of
mushroom. Write an effect due to €onsumption of poisonous mushroom.
Where doces the pollen grain formed in a flower? Write any two
differences between male gapete and female gamete.
%Wmam Argfire ypuATE Frrw TR | DNA T RNA
m?mmﬂwmmmmmmm 1+142=4
What is variation? State the I.m ol'segregation. Differentiate between
DNA and RNA onthe basis of structure and pentose sugar.
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What is hybrid”? Draw a chart of Mendel's monohybrid cross between

< long and short winged Drosophila. Show the result till F, generation.
N Write the phenotypic ratio of F, generation in dihybrid Cross.

y-fasrr aqar sreateer Rramr (Geology and Astronomy) :
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What is the view regaiding the origin of earth according to Cant? What
is the evidence that there were dinosaurs on the earth in the past history?
"Main cause of depletion ol ozone layers is human being." How?
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What is a hightyear? What is the distance in one light year? The tail of
the comet disappear w hen it goes away from the sun, why'? Name the

types of galaxy.
Lbd

For more question papers, visit www.MeroSpark.com




